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ERI1E| 2 B & [icp e INEGR B B2 =5 o Hith ith =5 wno =5 NS 86.85
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*[ IRETOREHRTT,




o057 PIZEBERE-ER (FR21ENSTHMIFET)

F 4 F10 |FE2E|[FE3M@M|(F4ME|FE50|F66M@m|F70H|F8H|FOR|F10R|(F11E|FE12H| & F
Bl=BRR|A7LRABl BFEFB| 9TH L&A EA WEGE | HEREE A® XA b4t FIE:B  |pmEaaE
TRH21F| 2 B & 2 3s] neg A =Y neg neg Sy =Y =5 neg =5 a8 82.41
g E 17.16 19.46 5.90 6.54 5.50 3.88 7.89 415 1.43 412 3.17 3.21
BIEBR|AT7IRAB| HETB| 9TH LA EA EGE | JREFA A e b a8 BB |pmEaLE
ER22F | B B & h—} =% =5 =% it (5h) B H Fih (H) | Z#b(5h) a5 Zith (8h) =5 i (H) 97.90
g = 11.76 18.34 17.26 6.31 17.05 2.51 5.79 7.56 1.51 3.13 3.35 3.33
BB ATIRB| RF# | 5F3EB| 9TH L83 EE BILA | EBEE Ak etia FIEB  |pmEaaE
TH23F| 2 B & ne g (5h) =5 =% Fih(H) & H i H g (5h) =5 M ne i (H) 99.36
g E 422 14.36 17.70 19.89 411 13.30 5.19 2.50 5.55 4.20 5.41 2.93
Bl=Zr| ZRF# IER | HFESE| 9TH &8 |AT7RB| =EH | BEFA Ak e+t FiEE | ~UTE
FR24F | B B & A o Fih (H) | FihEh) FAE A7 | Fh@Eh) | Fith(5h) =t =% =5 B H 73.38
g 2 10.77 2.38 13.00 483 8.62 0.00 3.76 11.87 6.82 499 3.24 3.10
Bl G| ZFH OTH | #AFFE| 9TH |=INLABE| EA ERA | AR#HA Ak t#—M |mEEEzeE] <UT7E
TH255F| 2 B & =5 FriE [E35E] FHh(E) A g (5h) #EH =Y Fith (5h) FriE i H & H 97.32
g E 20.74 1.20 8.08 19.54 9.93 7.60 2.55 431 5.04 491 9.62 3.80
Fl=Zr| RF—HA | 17Y24 OTH | AFET:E|[FNLAE| HEA fEREA | HBHAE Ak t#—ME| HFEHE | <UTE
TR265F| 2 B & A H B H it (5h) i =5 B H Fith (8h) & H Fith (h) B H =5 Zih (5h) | 105.78
g 2 11.20 3.35 19.62 16.11 9.58 15.81 3.06 1.85 3.05 3.60 3.30 15.25
BIEBZr| ZRF—H | 47028 | EEA OTH |&NLRE| TEB | BFT B | HEHE Ak F—F | BEE | <TU7E
27| 8 B & | HithGh) FriE Fi(E) | Zih(sh) =5 & H Fih(HE) =Y A =Y =5 =Y 101.71
g E 18.62 5.80 3.37 13.39 3.48 21.63 9.99 6.97 1.93 487 3.26 8.40
BPIEBrR| XRF—A | 47038 | BE$A8| 9TH IERB |ENAEE| SEEHE b4t fERA A EEM | <UTE
ER284 | 2 B & | HGh | H(E) | FHith(5h) B H o Fih(sh) | Fih(sh) =% FiE FriE =5 &M 109.98
g 2 12.81 8.16 26.13 6.62 27.24 7.02 3.17 5.33 257 476 0.22 5.95
BlEGET| ZRF—A | 47028 | BIIE| 9TH EA EEM | HREE A® ZE—A | —H| FEE | <UTE
TH20F| 2 B & =5 =2 =5 & H i H =% =5 INFE #EH & H Fih(HE) & H 67.65
g E 7.81 0.80 10.67 7.15 9.54 3.12 3.31 3.22 2.76 6.11 3.94 9.22
Bl&G| ZRFE—FA | 47028 | FFA 9TH EA e 4 I =< | R B 5 A BEIAE | e —H | ERXE | FiEH
ERHS0FE| 2 B & A= WiZE =5 FriE =5 B H IpFR INFER z=1 it i H =% 8217
g = 7.33 5.30 9.65 8.18 10.28 1.41 418 9.95 0.00 2.85 13.37 9.67
BIKG|A7RE| ZF—H | FEE | XBEEEF| LEE U | SREEE A® FBINAE | eF&—HA | X 2B [BrEssE
SHRE | B B & bt & H L/NES =Y =5 RFHF #EH =% =5 LN L/NES =Y 85.85
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